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ﬁg TREOBEBOTILEHOKRES TERFEOHBEILNOKRES TEFEOBBOEILIOKRES TREOHBESSLIDKRES
7 100kN/mM%E#8Z % — - ~ — —|3mZEBABD| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%E#BZ B - ~ — — —
st 1.00 | 0.00 ~ 6.29 79.11 | st | 0o0 ~ o000| 1.67 7.91 st 1.00 | 5.00 ~ 820 79.11 | Thst | 6.00 ~ 820\ 1.57 7.91
2 100kN/mM%E#BZ 5 — - ~ — —|3mEBZBH| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3mZE#BZD - ~ — — —
ZhLst 1.00 | 0.00 ~ 480 59.76 | Tns | 0oo ~ 480 1.97 9.95 FnLsn 1.00 | 5.00 ~ b5.64 59.76 | #nLS | 5,00 ~ 5.64)| 1.97 9.985
3 100kN/mM%E#BZ 5 — - ~ — —|3mEB2BH| — ~ — — — | 100kN/m#%#8% % — - ~ — — | 3mZE#BZD - ~ — — —
st 1.00 | 0.00 ~ 492 61.35 | TN | 0oo ~ 492 1.96 9.92 ThList 1.00 | 6.00 ~ 5.77 61.35 | Thst | 6,00 ~ 6577 1.96 9.92
4 100kN/mM%#8Z % — - ~ — —|3mZEBAB| — ~ — — — | 100kN/m#%#8% % — - ~ — — | 3m%E#BZ D - ~ — — —
st 1.00 | 0.00 ~ 6.10 76.53 | FnLS | 0o0o ~ 610 1.87 946 st 1.00 | .00 ~ 726 76.53 | ThS | .00 ~ 7.26| 1.87 9.46
5 100kN/mM#E{BZ % — - ~ — —|3mZEBAB| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%E#BZ D - ~ — — —
st 1.00 | 0.00 ~ 6.44 81.12 | #nst | 000 ~ 0.00| 1.72 8.68 ThList 1.00 | 5.00 ~ 7.63 81.12 | #hH | 5,00 ~ 7.63| 1.72 8.68
P 100kN/mM%E#BZ 5 — - ~ — —|3mEB2B| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3mZE#BZD - ~ — — —
zhLst 1.00 | 0.00 ~ 6.10 76.44 | TS | 000 ~ 610 1.87 946 Fnst 1.00 | .00 ~ 725 76.44 | NS | .00 ~ 725)| 1.87 9.46
7 100kN/mM%E#BZ % — - ~ — —|3mZEBAD| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%EHBZ B - ~ — — —
st 1.00 | 0.00 ~ 4.75 59.16 | =nst | 0.oo ~ 000\ 1.67 8.44 ZhLst 1.00 | 6.00 ~ 5.00 59.16 | =nLst | 5,00 ~ 6.00| 1.67 844
P 100kN/MZ#8 2 % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m#%FEZ 5 - ~ — — —
ThnLst 1.00 | 000 ~ 4.70 58.60 | =nst | 0.o0 ~ 0.00| 1.62 819 FhLst 1.00 | 6.00 ~ 5.04 5860 | =nLst | 6,00 ~ 5.04)| 1.62 819
9 100kN/mM%EZ 5 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8% % — - ~ — — |3m#%FHBZ 5 - ~ — — —
st 1.00 | 0.00 ~ 5.34 66.59 | Thst | 0oo ~ 0.00 | 1.59 8.03 FhLst 1.00 | 6.00 ~ 6.15 66.59 | TS | 6.00 ~ 6.15| 1.69 8.03
10 100kN/ Mm% 25 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EHEZ 5 - ~ — — —
st 1.00 | 0.00 ~ 5.92 74.16 | ThSY | 000 ~ 000\ 1.57 7.91 FhLst 1.00 | 6.00 ~ 7.40 74.16 | NS | 6.00 ~ 740 1.57 7.91
100kN/ Mm% Z 5 ~ 3mEERD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/MZ#8Z % ~ 3mEBZ D ~ 100kN/ Mm% 25 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEERD . 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% A5 ~ 3mEERD ~ 100kN/ Mm%z 5 ~ ImEEAD ~
zhsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEEZD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZnLst ~ ZhLst ~ Zzhust ~




